Exercises 9.4

I (@ sin"'}=12 (b) cosMi=1 (c) cos™12 is not defined.
3. (a) sin! 22 =z (b) cos'lﬁg =1Z (c) sin‘l(—g) =-1Z
5 (@ sin'1=3% (b) cos~!1=0 (¢) cosi(=1)=m
7. (a) —‘é—: = (b) tan'l(-—‘/Ts) == (c) sin~!(—2) is not defined.
9. (2) sin"1(0.7688) ~ 0.87696 () cos™1(~0.5014) ~ 2.09601
11. sin(sin™!}) =1 13. tan(tan~'10) = 10
15. cos™!(cosI) = 7 17. sin7![sin (-%)] = -1
19. tan~!(tan &) = tan™! [tan( & — 7)] = tan~"(tan ) = —7 (since & > I)
21. tan(sin"!}) =tan% = é 23. cos(sin’l%) =cosf=1
25. tan~!(2sin 3’5) =tan™1(2- 3@) =tan~'y/3 =1
27. Letu =cos~13 , S0 COS U = % Then from 29. Letwu =tan~! 152, sotanu = 152 Then from
the triangle sm(cos“lg) =sinu = }. the triangle sin(tan™! ) = sinu = 1.
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31. Letd =sin™! ig, so sind = ig Then from 33. Letu =tan~!2, sotanu = 2. Then from

the triangle sec(sin™! %) = sec§ = £, the triangle cos(tan™12) = cosu = _\}—g = lg .



